Homework 3 Math 3C Fall 2019 - Lenz

Name: S f?/a-)(’/'ons PID:

NOTE: You must show the steps necessary to arrive at your |
answer unless otherwise noted. Use your judgment, if you

can’t do the entire problem in your head, then you probably |
should write down at least some intermediate steps. |

| This assignment has 6 pages. There are 38 total points. |

Problem 1 (4 points). Describe the following sets of numbers in interval notation:
(ayx=>5

[5,62)

b)x<2o0rd<x<7T

sy

(a0, 2) vl 7

-

(c) The domain of f(x) = Vx
L, %)

(d) Allx #6

1',—.0( .4" L)Y
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Problem 2 (4 points). Describe the following sets of numbers in inequality notation:

(a) [5,11)

E= x<

(b) (-2, -1]U(1,2)

(d) All numbers EXCEPT those in [5,11)

;ri(z " ¥ ..;’"
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Problem 3 (2 points). Let r(k) = % + 1. What is the formula for »~1(k)?
Let m=rlk) -z T

Then m= 7235 +/ R

-

Ll
=

- ) - N . - : = /
—OIVE {Dr [ M= = |2 / S SR LAl Y—

;'Ta-,.'f;k-—l‘ -— 3 /
/ - //
k-2= 2 P
K= B2

Problem 4 (2 points). Suppose L(a) is a linear function and L(1)=-2and L(4) = 6.
What is the formula for L(a)?
Je— Y E-(-2) _ 642 _ ¢

S/&(;e: xS 4, 3 E

Zolve for y-intescept ()= m-a+te

E)
L{)= &-1 +b
_: = Z' +' o 1 —’/Ii
2 _ b3
R e Ty
Problem 5 (2 points). Let A(y) = %y—Z. (a) = z5a° X

(a) Write down the formula for a line which is parallel to A(y).

AVI)/ llﬂ& ‘)_)i]"h ‘:’}.{; SaMeE :Jrofa A)Ofl‘:\j

‘3(//:%)’ +4 y FD/” e.xm(ol@
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(b) Write down the formula for a line which is perpendicular to A(y).
4”)/ :I‘VL{ n :»'A/"’ | ne | M ;'}' ;f’/ ';-l > ,’ wol b
Ln al i k { ¥y /‘/ [Al=® V1 )

Problem 6 (6 points). Match each line in the figure with its corresponding formula.
Next to each formula write the letter of the matching line.

= fx)=2

Fx)=3x+2

A
E f(x)==-x-1
e

f)=3x-1

fx)=x+2

__E___ f(x)=-1-2x
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Problem 7 (4 points). Let a(x) = x — % and b(x) = —2x + 1. At what point do the
lines defined by a(x) and b(x) intersect? Write your answer as a coordinate pair.

a ()= bl
g~k s 2D a()z5-5-9
3 )
xg—y fi + 3 ) Y
><=-j|§ _— T prersects  of

(£, ©)

Problem 8 (2 points). Graph the function p(z) = |z — 2| + 3.

A

F
T
|

Z
Problem 9 (4 points). Solve the equation —3|x + 2| = —6 for x. There are two
solutions. _ 3/)( _},2) =-£
. i e
[x#2]= 7
/ h ,
é 3
Tbuo Cas(ﬂ_’_, /7",2 =7 --(,(5—2;:::-2
‘ . ye2=2
—¥ = 9’ => X = '—y
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Problem 10 (4 points). Solve the inequality |4x + 31 < 5 for x.

"

o’V@ 7W’T/ &lf "" ILI 'f' I

4 \:‘& .
<.k =
I _—E_ :_z_ ) Z,X7L— - /‘/X% J-,:. -: ‘
S IS Ch—- 2 X F l/}(ﬂl wt F J
e &} X = Yy =-&
x=—2 N
Nember Line Test | ﬁr)/ f“ﬁ - T st
.I —T(/S"L X = ?. )9( 11"3 /- / /7 (? X . J/}‘ 7t .-‘ vrly
I: Test X=O, /z/ o+3/=1z '_ v . ,
R A Tz x=

Problem 11 (4 points). Cons1der the polynom1al function p(x) = 4x°—2x*—2x>+5x.

(a) What is the degree of p?

5

(b) What is the leading coeflicient of p?

e
[

(¢c) What is the leading term of p?
qys
X
(d) Does p have an absolute minimum? Or does it tend to —co in some direction?

Ax/c"‘ U SE u‘lz mimr;'u- \

[OPTIONAL] Survey Questions. [Click on the blue text for more info]

Have you attended OASIS drop-in tutoring for Math 3C? (circle one)
yes no no, and I don’t know what that is

Have you attended the Supplemental Instruction sessions for Math 3C? (circle one)
yes no no, and I don’t know what that is
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